Efficiency vs P,

+0.05p
= E : : :
D.045F - e AR
> E : : :
0 0.04F +ererireeen B RPN
o E : : :
D.035F - eeie e Freseeeeneee e
o : : : :

O S S e
0,028+ S A

0.022—-----+---+§ ------------ e e
YT NSRS R e S

T R N S S
0.008f-+-+-+eesfemeseseenes b e

1.0

Ratio

-

. Gedf’

Efficiency vs ¢

o0.05¢
% F:
2,045 -
S
$0.04F -
Q -
£9.035F
T =
0.03F
0.025F
0.02F
0.015F- -
0.0%¢4¢

0.005

Ratio

J..hru‘-. L

1

0.95L1

TP @

—— D VOO0 T RO0000000 T —Giopa —TMRETTO000 _RECO
—_— B WOOO%:EOOOOOOOO%:G opal— EI %OOOK?'_RECO RE
= BMV001-RA0000000T—Globa— MK ENTa00 Hme—RERS
—— D V0001~R0O00000001—Global—mkFit1000MTime _RECO




	Contents
	Page 1


